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O int tensu[100]; /x 100 O00O0O0O0O0O00 x/
double heikin[5]; /¥ 5 000000 =/
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double rei[5]; —RBOR 0000 3: 00000000 0000000000
00-1000000000000000
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2] O double reil5]; /* 00000 =/
rei[0] = 1.0; /* 0 000000 1t.0000 =/
rei {21412 LEHI O BT n=3;
(7 Fra) ey reiln] = 3.1415; /+ DO00O0OO0O0OO0OOOO0O0 */

gobog s bbobbodgboobbooboobboobobogboo

example6_1.c I
/*

* JO0goobobobobooooooboboboboon
*/

#include<stdio.h>
#include<math.h>

int main (void)

int i;
double vectori[3]; /+ 3000000 10
double vector2([3]; /3000000 20
double naiseki = 0;
printf("1000000000\n");
for (i = 0; i<3; i++){

scanf ("%1f", &vectori[il]);

oooog =/
oooog =/

printf("O0 000000000\ ;
for (i = 0; i<3; i++){
scanf ("%1f", &vector2[il]);

for (i = 0; i<3; i++H){
naiseki += vectorl[i] * vector2[i]; /x00000O0x*/

}
printf ("%f\n",naiseki);

return O;
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00000 000000000 = 000000 (@0)
O: int number = 10;
double value = -1.0;
ogoooo oO0oOogod DDDDD[DDD]={DDODD,DDlDD,---}
O: double average[5] = {3.3, 5.1, 0.3, 3.2, 1.1 };
int tensu[3] = { 30, 50, 20 };




example6_2.c I
/*

*» JO00d0oboodoooooooooboodooooboooooooooooooooobooooon
*/

#include<stdio.h>
#include<math.h>

int main (void)
double heikin = 0;
double sd = O;
int i;
int math[15] = {58, 72, 83, 36, 94, 67, 85, 78, 70, 81, 77, 69, 90, 83, 75};
for (i = 0;i<15;i++){
heikin += math[i];
}
heikin /= 15;
printf("O0000%f 00 \n", heikin);
for (i = 0;i<15;i++){
sd += (math[i] - heikin) * (math[i] - heikin);
}
sd = sqrt(sd/15);

printf("O0000% 00 \n", sd);
return O;
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example6_3.c
oo
#include<stdio.h>

#include<stdlib.h> /% rand, srand D00 0000000000000 */
#include <time.h> /*time OO O OO0 %/

int main (void)

ot 99

goood good
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int ransuu[100];
int i;

double heikin;
int max;

srand (time (NULL)) ;
/* srand000000000000000O0OOOOOO
* time O 000000000ooo

for (i = 0; i<100; i++) {
ransuul[i] = rand() % 100;

/* 00099000000 100000
* rand D0OOO RANDMAXOOOOOODOODOOOODODOOOOOOOO
« RAND MAXOOOOOOOOO10000O00000O0000O
*/
}
heikin = 0;

for (i = 0; i<100; i++){
heikin += ransuul[i]l;

printf("O000O%f D00 \n", heikin / 100);

max = ransuul[0];
for (i = 1; i<100; i++){ /*max 00000 ranswu[0] 0000100000000 x%/
if (ransuuli] > max){
max = ransuul[il;

}
printf("O000%A 000 \n", max);

return O;
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O int tensu2[5] [100]; /* 5000 x 100 00000000 =/
double matrix[5][5]; /¥ 5 x 5 000 */
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double rei[8][4];
rei [01[0] rei[3][2]=3.5;
- 3.5%RA
3. 54
rei [7][0] rei [7]1[3]

example6_4.c I
/*

x 20 000000000O00ODOOOOOOO
*/
#include<stdio.h>

#define ROW 2
#define COLUMN 2

int main (void)

int a[ROW] [COLUMN] ;
int b[ROW] [COLUMN] ;
int c[ROW] [COLUMN] ;
int d[ROW] [COLUMN] ;
int i,j;

printf("1 000000000000 O00O00O0OOOOO\n";
for (i = 0;i < ROW;i++){
printf("%d 00 \n",i+1);
for (j = 0;j < COLUMN;j++){
printf (" KOO",j+1);
scanf ("%d",&ali]l [j]1);
) }
printf("20000000000000000000O00O0O\n");
for (i = 0;i < ROW;i++){
printf("%d 00 \n",i+1);
for (j = 0;j < COLUMN;j++){
printf (" KOO",j+1);
scanf ("%d", &b [i]l[j1);

}
¥
for (i = 0;i < ROW;i++){
for (j = 0;j < COLUMN;j++){
c[il[j]1 = alil[j] + blil[jl;
dlil[j] = alil[j]1 - v[il[j1;
}

printf("\n2 00 0000000000000 \n");
for (i = 0;i < ROW;i++){
for (j = 0;j < COLUMN;j++){
printf("%d ",c[i1[j1);

printf ("\n");
printf("\n2 00 0000000000000 \n";
for (i = 0;i < ROW;i++){
for (j = 0;j < COLUMN;j++){
printf("%d ",d[i1[j]1);
printf("\n");

return O;
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example6_5.c I
/*

*» DO0O000ogooag

*/
#include <stdio.h>
#define ROWMAX 100
#define COLMAX 100
int
main(void)

double m[ROWMAX] [COLMAX] = {% .

{
v1[COLMAX], v2[ROWMAX];
int i, j;

/* vi O0OO0O =/

for (i =0; i < 4; i++ ) {
printf("vi[/d] - ", i);
scanf ("%1£f", &vi[il);

/¥ v2 =m *x v1i OO0 */

for ( j =0; j<3; j++) {
v2[j] = 0.0;
for (i =0; i< 4; i++ ) {
) v2[j] += m[j][i]*v1i[i];

}

/* v2 OO0 =/
for ( j =0; j <3; j++) {
printf("v2[%d] = %8.3f\n", j, v2[jl1);

return O;




